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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

(05) 

(19) 

(02) 

1. Discuss the importance of agriculture in Indian

economy. What suggestions you will give to remove

the backwardness of Indian agriculture ?

        





2. What do you understand by food security ? Explain

about food security of Indian Government.




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3. Critically explain the Leuris theory of unlimited supplies

of labour.

  



4. What are Iso-product curve ? Explain their

characteristics ?



5. What do you mean by Land Reforms ? Explain the

land reform programmes adopted in India since

independence to bring about the required change in the

agrarian structure.

 

    



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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    (08)      

(08)

(04) 

1. What impact has green revolution made on agriculture

in India ?



2. Explain decreasing returns of scale.

 

3. What do you understand by ‘Closed Economy’ and

Discuss about ‘Real Wages’ ?





4. Discuss about institutional reforms implemented under

Agriculture.



5. What is the difference between agriculture and industry ?



6. Effects and problems of organic farming.


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7. Explain the trends of growth in agriculture sector.



8. Capital formation through bank credit.



**************


